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Integration by substitution

Evaluate each of the following integrals

S.
f 90x2 sin(2 + 6x3) dx

—5cos (2 + 6x°) + C

1.
f(8x —12)(4x? — 12x)*dx 2. J 3t™*(2 +4t73)77dt
L(4x? = 120)° + C —(2+4t™)04C
3' 2 10 4. 3 2
(3 —4w)(dw* — 6w + 7)°dw 5(z —4)yz? —8zdz
1 2 11 15 - 2 2
—Z(4W —6w+7)"+C ?(z —8z)3+C
6.

j(le‘2 — 5x) cos(6x™1 + x?) dx

—gsin(6x_1 +x2)+C

j(7y —2y%)e¥* 7 dy

1 4_ 7.2
—Eey 7y +C

8. J 4w + 3 P
4w? + 6w — 1 W

%lnléLw2 +6w—1|+C

- f (cos(3t) — t2) (sin(3t) — £3)5dt

—(sin(3t) = t3)° + C

1
10 J4<E—e_z) cos(e ?+1Inz)dz

4sin(e*+Inz)+C
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